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GINEANL:  An ergineer estmates e componenss oF a force
d(/{ma on a brid'c/fi obutment?.

Fx=120 MN \Fl=165 MN R is regative. .
KEQUIRED: Find .

SWANTEGY : Use The detinitron o é 70e /3?5??#? 1tvele O a
vedor to solve o

Fl=VR=+F/*
SOLUTION :

(/65 fMNL;/\/G%o MND*+ (Fy MN)* i3l
27225 MN? = (120 MN* + (F, MN)™

27225 MN” = (6900 MNZ+ (5, MN)
—16700 MN* /6700 MNZ

J1©225 MmN =] (F, mN)*

"= lol. ¢ MN r‘emember“ is neaative.
3 . report 1o %gs : <

7 =102 MN|

DISCUSSION ¢
Giver 7he magn i Tucle. % 5 and [F/ )

mgf solution akes Sense. /’)7?

onswer mafthes The Soluirovr /4

The back GZ he  book.
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